o(d dxy) (cm)

Ratig:

0.95

=
LA |+| UL

[
[rorr |+| L

++++++++++++++++++++++++++++++++++

-

|
w

|
N

I L.
[N
o
|

o(d dz) (cm)

e

Ratig:
'_\I I I I

ij‘H‘“H‘~f**+*|*+++=++++ ++++++++++«+++++++++

0.95_'3 _‘2

S R B

KEIT etrain

'_

Fit EWdefault_specPLessl
Fit EWdefault_specPLess2
Fit EWdefault_specPLess3
Fit TT _NEWdefault _specPLess4

mline)

..........................................................................

+++++++++++++++++H++++++++++++++

-‘1 6 ‘1 é é
TP ® (PCA to beamline)

I
w
I[..
N

~ M M
= : :
o : :
~~ . .
= : :
o : :
o) mr o
5 o
e -7

aoa%?""?

Rati

F
" u
i:
=
1
N .
|
i
= =
EE
-

o.95_=3 _=2

-‘1 6 ‘1 é é
TP ® (PCA to beamline)



	Contents
	Page 1


